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2.0Options shown in red color and with * icon are incorrect.

Question Paper Name : ComputerProficiencyCertificationTest 25th Feb 2023 Shift 1

Subject Name : Computer Proficiency Certification Test

Creation Date : 2023-02-25 14:26:32

Duration : 120

Total Marks : 75

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : No

Highlighter : No

Auto Save on Console? Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No
CPCT

Group Number : 1

Group Id : 2549894421

Group Maximum Duration : 75

Group Minimum Duration : 75

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 75

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS

AND NETWORKING
Section Id : 2549896959
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 1/40



27/02/2023, 16:18

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

1

Online
Mandatory
52

52

52

Yes

Yes

0

1
2549897000
Yes

null

Question Number : 1 Question Id : 2549896371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The displays a list of commands that can be used to gain access to information, change hardware settings, find stored

information and shut down the computer.
Options :

1. ¥ GUI

2. # desktop

3. % icon

4. ¥ start button

Question Number : 1 Question Id : 2549896371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1. % UMb ToR 3B ¥ (GUI)
2. % 3WHeT

3. % 3MEHH

4. ¢ ®TE ge

3T SIS DI T Y UG Rfd Bl g a1 Suai
ga 3R HYLR B TSI (3c) HRA P o fowam o Tapelt

|

Question Number : 2 Question Id : 2549897629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Modern computers are very reliable but they are NOT

Options :

1. # precise
2. % cheap

3. # accurate
4. ¥ infallible

Question Number : 2 Question Id : 2549897629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MYP IR Igd Ay g AfpTad T gl

Options :

1. % g (Tmg)
2. % I
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3. % g (ARRT)
4. ¢ ITH (FPplea)

Question Number : 3 Question Id : 2549897750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is called machine independent programming language?
Options :

1. ¥ High level language

2. % Low level language

3. % Assembly language

4. # Machine language

Question Number : 3 Question Id : 2549897750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T YT 1 TRAA Tad= TTERT yre (machine independent programming language) el SITdl %‘?
Options :

1. ¢ I ERIG HIWT

2. % {395 TG HIeo

3. % il HIST

4. % TR HTST

Question Number : 4 Question Id : 2549897784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Formula in a spreadsheet is started with
Options :

1. # a dollar symbol ($)

2. % an equal to symbol (=)

3. # aplus symbol (+)

4. ® 3 minus symbol (-)

Question Number : 4 Question Id : 2549897784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
et ¥ BiHa ALE RIS
Options :

1. % TH IR BT D ($)

2. ¢ T SRISR B Udlioh (=)

3. % T SIS (W) BT Wl (+)

4. % U@ B (WIEH9) F9% ()

Question Number : 5 Question Id : 2549898403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following functions returns the arctangent of a number in MS-Excel?
Options :
1. % ATAN function
2. # TANXY function
3. # XYTAN function
4. ¥ ARCTAN function
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Question Number : S Question Id : 2549898403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FofRad # & HIF-91 Ba-MH, MS-Excel | fordll G901 &7 3MTdhcaic Tierdl 52
Options :

1. ¥ ATAN HhoRM

2. % TANXY haRH

3. % XYTAN haRH

4. % ARCTAN o=

Question Number : 6 Question Id : 2549898843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word the keyboard shortcut, Ctrl + I, is used to -
Options :

1. # save the document

2. # close the document

3. % apply italic formatting to the selected text

4. # apply Left Indent to the selected text

Question Number : 6 Question Id : 2549898843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word # HISTS RCHT Crl + 1 BT ST BT ST -
Options :

1. % SlagHc Y8

2. % SlegHC §q B

3. ¢ T TR IR 3T W0 AN B

4. * YT TR IR S8 $S¢ AT Y

Question Number : 7 Question Id : 2549899406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) camera is a peripheral device used to capture still images in a digital format that can be easily transferred into a computer
and manipulated using graphics software.

Options :

1. ¢ digital
2. % analogue
3. # classic
4. # front

Question Number : 7 Question Id : 2549899406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
s HRT U ORI fSar3y § ot U fSfited Uy §f fed Sfaa (still images) BT TR HRA & o SUTNT fpan Sran
2 e oA A Hoger B VMR fbar St FebelT 7 3R Wby FIUedTR BT IUTNT BReb -l b Sff Tebll B
Options :
1. ¢ f&fred
2. % AN
3. % FRAD
4. % e
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Question Number : 8 Question Id : 25498923842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The CPU is connected to the video board through the bus.
Options :

1. # analogue

2. ¥ gystem

3. # digital

4. % hybrid

Question Number : 8 Question Id : 25498923842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU T & Tread 3§ Aifea 918 A JeTgar gl
Options :

1. % QTGN

2. v Rew

3. % fefored

4. % grsfas

Question Number : 9 Question Id : 25498923901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In computing, (a/an) is software or hardware that allows one computer system (host) to function like another computer system.
Options :

1. # interpreter

2. % gimulator

3. # compiler

4. ¥ emulator

Question Number : 9 Question Id : 25498923901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S d, AT I ETEIR 2 Sl T Hex RieH (1<) B g e Rier $1 avg B b B 3grfa a2l
Options :

1. % RMUR

2. % RgaeR

3. % HURR

4. ¥ TR

Question Number : 10 Question Id : 25498929725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are one-bit memory cells that use bistable latches for data storage and hence there is no need to periodically
refresh memory contents?

Options :

1. ¢ Static Random Access Memory

2. # Dynamic Random Access Memory
3. ¥ Magnetic Memory

4. % QOptical Memory
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Question Number : 10 Question Id : 25498929725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifad 9 ®19-91 teh-fae 90 T 8, o ST TR & o e dd aevl BT YT HRdl 8 3R ST, JHI-JHY R
AHRY e o R 78 BT Usdr g2

Options :

1. ¢ Rfew You vy aast

2. % STOAMNG YT T AR

3. % Dofed AERY

4. % ffPHd AARYT

Question Number : 11 Question Id : 25498929889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first six digits in the Universal Product Code represents
Options :

1. % manufacturer of the product and the type of transaction
2. # product code or item number

3. % check digit used to validate the code

4. % area code of the barcode manufacturer

Question Number : 11 Question Id : 25498929889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I NS PISATGA BE 36 B UM BRA G |
Options :

1. ¢ IdE BT FAATar 3R A &1 UHR

2. % IdIG DIS T 3MIcH HHD

3. % PIS Bl A B & [ SIAHTA (b 11 I 3

4. % gR&IS FAHar BT IRAT DI

Question Number : 12 Question Id : 25498929971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a method where a counterfeit mould emulates the unique biometric attributes of an individual so as to confuse the biometric
scanner.

Options :

1. ¥ Biometric scanning
2. #® Biometric spying
3. % Biometric spoofing

4. % Biometric scoring

Question Number : 12 Question Id : 25498929971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS Ut fafd B foraes dgd fanddt aafda &1 sifgclia safees faxivarstt aren Ue Al Aics daR a1 Sirdn § arfds
IS TR oY Uit fomar o wh |
Options :
1. ® JEAfee® BT
2. % EACH WgT
3. ¢ JEnfifess gt
4. % FEOWR® IR
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Question Number : 13 Question Id : 25498931326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following structures is followed by the USB architecture?
Options :

1. ¥ Tree structure

2. % Hash structure

3. # List structure

4. % Graph structure

Question Number : 13 Question Id : 25498931326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeRad & 9 f5y TRamT (aeR) &1 SIER01 USB Sffdeder rdl 82
Options :

1. ¢ SRR BT

2. % BRI WFRR B

3. % foRe WaR &1

4. % YIh ¥¢d=R I

Question Number : 14 Question Id : 25498933177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 kilobyte (KB) is equal to bytes.
Options :

1. % 2024

2. %1012

3.9 1024

4. % 1042

Question Number : 14 Question Id : 25498933177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| fpeieTge (kB) 3T & RIR ¢ |
Options :

1. % 2024

2. %1012

3.91024

4. % 1042

Question Number : 15 Question Id : 25498933931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to sound waves, what is the full form of SAW?
Options :

1. # Surface Arrangement Wave

2. % Screen Acoustic Wave

3. ¥ Screen Arrangement Wave

4. # Surface Acoustic Waves

Question Number : 15 Question Id : 25498933931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

G T3 & Ted o, SAW &1 g0 ST 172
Options :

1. ® g5y 3Roic ag (Surface Arrangement Wave)
2. % Tpi W G| (Screen Acoustic Wave)

3. % Tpi- 3ROHC ag (Screen Arrangement Wave)
4. ¢ Thg THIRePH dod (Surface Acoustic Waves)

Question Number : 16 Question Id : 2549898176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to gain unauthorised access to a network by impersonating a source with authorised access.
Options :
1. ¥ E-mail spoofing
2. ¢ IP spoofing
3. # Biometric spoofing

4. % App spoofing

Question Number : 16 Question Id : 2549898176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BT IUUNT fgd TaR aTal A &1 Ufae U] dRas fhdt Aedds o S Tay U A & ford farar srar ]
Options :

1. % SO Wb

2.+ 1P 1T

3. % SEAAfeH W

4. % Ut

Question Number : 17 Question Id : 2549899468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to printers, which of the following is used to store information and release it whenever needed at a required rate?
Options :

1. # setup

2. % cable

3. % buffer

4. % model

Question Number : 17 Question Id : 2549899468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁa;ﬂ‘c{ﬁﬁ,ﬁaﬁﬁ%&mw&hwﬁaﬁ@ﬁamﬁeﬁ?wqﬁwwamsﬁmmﬁmm
ITdl 8?2

Options :

1. % eam

2. % dhad

3. R

4. % Tlgd

Question Number : 18 Question Id : 2549899483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

A dot matrix printer uses a type of paper with punched along each side.
Options :

1. # dots

2. ¥ holes

3. # characters

4. % lines

Question Number : 18 Question Id : 2549899483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST Afeay fifer, TG Ul @) W Ufid fbd gU O Iua aRar g |
Options :

1. % 8lc

2. ¢ {55 @)

3. % 3f&R

4. % Ufad

Question Number : 19 Question Id : 2549899584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In printing, DPI stands for:

Options :

1. # Density Per Inch

2. % Dots Per Inch

3. # Dot Per Intensity

4. % Density Per Image

Question Number : 19 Question Id : 2549899584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fiifeT & pp1 &1 qUf U T 7Y

Options :

1. # Density Per Inch (@ﬁ—cpf R )

2. ¥ Dots Per Inch (?IJEEWQ'_G[)

3. # Dot Per Intensity (ﬁ?‘fﬁ%@ﬁﬂ’)
4. % Density Per Image (Sc] R )

Question Number : 20 Question Id : 25498910793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a page description language (PDL) that is specially developed to offer efficient and effective control of printer features
among various printing devices.

Options :
1. ¥ PCL
2. ¥ PRL
3. # PML
4. % PDL

Question Number : 20 Question Id : 25498910793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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T gy faaror | (PDL) & SR faxiw =0 3 faftys fifeT Suaon & ot fifex giaensit & e ok uuTd! o & forg

famRid forar T g

Options :

1. ¥ PCL

2. % PRL

3. % PML

4. % PDL

Question Number : 21 Question Id : 25498911256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ability of AM receiver to select or accept wanted desired band of frequency and reject all other unwanted is referred to as

Options :

1. # sensitivity
2. ¥ selectivity
3. ¥ suitability
4. % stability

Question Number : 21 Question Id : 25498911256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AM RS &t gifesd SMafy oS &) g a1 WHR TR BT &l 3R 3= Goft sfaifesd &1 sRfidR FHreT CRUESIE)]
ST gl

Options :

1. % AR (sensitivity)

2. & JYATHD I (selectivity)

3. % JUYd (suitability)

4. % TR (stability)

Question Number : 22 Question Id : 25498913400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to image formats, JPEG stands for:
Options :

1. # Joint Photographic Experts Gang

2. # Joint Photographic Engineers Group

3. ¥ Joint Photographic Experts Group

4. % Joint Photographic Engineer's Gang

Question Number : 22 Question Id : 25498913400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AW Ul & e H, JPEG &1 401 &4 1 82

Options :

1. % Joint Photographic Experts Gang (WWW%

2. % Joint Photographic Engineers Group (GrT'a“c' BICUh® _S}ﬁlﬁ'{lﬁgm
3. ¢ Joint Photographic Experts Group (HT%EU%@W m q9)

4. % Joint Photographic Engineer's Gang (Gﬁ%‘c’ BIChd® gﬁﬁﬂﬁﬁ“)

Question Number : 23 Question Id : 25498913465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Video signals exhibit yet another form of statistical redundancy and that is:
Options :
1. ® spatial redundancy
2.+ temporal redundancy
3. % spatial as well as temporal redundancy

4. % peither spatial nor temporal redundancy

Question Number : 23 Question Id : 25498913465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

difsar Rwa Tifsret sifavear (statistical redundancy) I U 3R ¥y yefid #a %’ 3R qgg %I
Options :

1. % WIiRIefd Rt

2. ¢ THIRG Rl

3. % WiiRrerd Re==t & A1y 91y criRd Rt

4. % 74 WIRIS(d 1 g CHRA Res-4t

Question Number : 24 Question Id : 25498918478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to print an image from a web page, then what is the correct way to do it?

Options :

1. % Open a webpage -> select an image -> press Ctrl + P -> select ‘image’ only

2. % Open a webpage -> right click on an image and select 'open in new tab' or 'open image' -> press Ctrl + P -> say ok/enter
3. % Open a webpage -> left click on an image and open in new window -> press Ctrl + P -> say ok/enter

4. % Open a webpage -> press Ctrl + P -> say ok/enter

Question Number : 24 Question Id : 25498918478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AfE 31T 9 O ¥ foreit S0 1 flfc 311 216 & ol $9 ) 1 T axioh] T g2

Options :

1. % JEUS @Id -> SHS 999 X -> Ctrl + P GETY -> HAd ‘image’ BT IIT PR

2. ¢ U @idl -> A IR X3¢ [Fad He 3R 'open in new tab' YT 'open image' BT I B -> Ctrl + P AT -> ok/enter PR |
3. % J9US Widt -> 3HO IR AYe foad & SR 7T fdST H @il > Crl + P GETT -> ok/enter B

4. % QU WA -> Ctrl + P &Y -> ok/enter X |

Question Number : 25 Question Id : 25498918564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to switch to the last tab of the Chrome browser?
Options :

1. % CTRL+L

2. % CTRL +9

3. % ALT+9

4. % CTRL+0

Question Number : 25 Question Id : 25498918564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B SR & 3ifaH ¢d R aa T & o 5 1 & ford Sials Tcdhe B SUanT b ST g2
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Options :
1. % CTRL+L
2. % CTRL+9
3. % ALT+9
4. % CTRL+0

Question Number : 26 Question Id : 25498920738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the internet, what is the full form of VPN?
Options :

1. ¥ Virtual Proxy Network

2. ¥ Virtual Private Network

3. # Valid Private Network

4. # Virtual Portal Network

Question Number : 26 Question Id : 25498920738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Zee & UeH B, VPN &1 QUf &9 1 82

Options :

1. ¥ Virtual Proxy Network (aésm OiR{T Head)
2. % Virtual Private Network (ﬁ\ﬂﬁ Cﬂga?f W)
3. # Valid Private Network (3&15 PIEE "I(‘.dé?)

4. % Virtual Portal Network (a’é&ra th?‘afrc’a’q%)

Question Number : 27 Question Id : 25498922032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Key Reinstallation Attack (KRACK) is a complex attack against the protocol.
Options :

1. # TCP

2. % 1p

3. ¥ WPA2

4. % HTTP

Question Number : 27 Question Id : 25498922032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B J3ETAT 3P (KRACK) TIelpTd & fa%g Th Sied gHal gial 3|
Options :

1. ¥ TCP

2. % 1P

3. ¥ WPA2

4. % HTTP

Question Number : 28 Question Id : 25498924175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 64 bit operating system supports:

Options :

1. ¥ 2 hexabytes of RAM to process the data
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2. % 4 hexabytes of RAM to process the data
3. % 8 hexabytes of RAM to process the data
4. ¥ 16 hexabytes of RAM to process the data

Question Number : 28 Question Id : 25498924175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

64 fd R Ren 1 9uid el &
Options :

1. % ST P U B & o0 2 RRATETZeH X
2. % TP UIAY B & T 4 RIEZT ¥
3. % 3T P YN FH=A & U 8 TRIEIZCH <A
4. ST DI YT B3 & 17T 16 ZHITTSCH XH

Question Number : 29 Question Id : 25498925403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which UPS is the best option for mission-critical systems?
Options :

1. % Line interactive UPS

2. % Multimode UPS

3. % Double-conversion UPS

4. % Standby UPS

Question Number : 29 Question Id : 25498925403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST UPS, M- eyl yunfertt & fow gad st fawea 32
Options :

1. % @13 $eXfded UPS

2. % HCHHIS UPS

3. ¢ SqA-BH-a UPS

4. % WSI™ UPS

Question Number : 30 Question Id : 25498925444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following stores the cut or copied texts in MS-Word?
Options :

1. % Footer

2. % Header

3. % Table

4. # Clipboard

Question Number : 30 Question Id : 25498925444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfIad & 9 $1F-91, MS-Word B %€ 1 H1Ul ot U CRe BT TR Bl 5?2
Options :

1. # PR

2. % g
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3. % ¢qd
4, ¢ faauens

Question Number : 31 Question Id : 2549896495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first graphical browser for the WWW was named:
Options :

1. # Netscape

2. # Veronica

3. % Mosaic

4. % Lynx

Question Number : 31 Question Id : 2549896495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WWW o foTT Ugel Wifthebet SR b T =11 fem am r2
Options :

1. % W(thscapc)

2. % W(Veronica)

3. ¢ Ol (Mosaic)

4. % ff (Lynx)

Question Number : 32 Question Id : 2549896660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Internet is an example of

Options :

1. ¥ PAN

2. % MAN

3. ¥ WAN

4. % LAN

Question Number : 32 Question Id : 2549896660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
EAE P TP 3T G|
Options :

1. # PAN

2. % MAN

3. % WAN

4. % LAN

Question Number : 33 Question Id : 2549896755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a plug-in?

Options :

1. % It is a computer software that adds new functions to a host program without altering the host program itself.
2. % Tt is a computer software that allows to find and view websites on the internet.

3. #® It is a computer program to filter unwanted e-mail messages.

4. # It is a computer program to delete cookies, browsing history, etc.
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Question Number : 33 Question Id : 2549896755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WT-3 (plug-in) FT 82

Options :

1. v T8 T R TR & S G T o S s e €k W & g G el 21
2. % g TP SR AW § Ol §eR¢ TR JqUIZe] I WioH 3R 3/ Bt S ST 8|

3. % U8 3faifdd 3-Hd YRl b fheex 31 & oW U poeR T B

4. % Jg Hpivl, STIFAT iRt anfe ol fEelie wA & forg uh Froger U g

Question Number : 34 Question Id : 2549897205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Google calendar labs, keeps a track of time around the world.
Options :

1. ¥ world clock

2. % period clock

3. % schedule clock

4. % track clock

Question Number : 34 Question Id : 2549897205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Hae ooy |, o g & IHg W AT (track) A B
Options :

1. ¢ 9 FilD

2. % IRTS il

3. % YSYA (D

4. % TH adAld

Question Number : 35 Question Id : 2549897394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following function key is used to choose the Save As command in MS-Word 2019?
Options :

1. #¥ F11

2. % F10

3.¥ F12

4. % F4

Question Number : 35 Question Id : 2549897394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T <3 TH (Save As)’ HHIS Bl T4 & foTT o =T groit T IUTNT 3T ST 82
Options :

1. % FI11

2. % F10

3. ¥ Fl12

4. % F4
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Question Number : 36 Question Id : 2549897425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Web Layout option is available in which of the following tabs of MS-Word 2019?
Options :

1. ¥ Review

2. ¥ View

3. ® Design

4. % References

Question Number : 36 Question Id : 2549897425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 A3MT3< faBeT MS-Word 2019 & fbg &9 H IUT= 82
Options :

1. % R (Review)

2. ¥ (View)

3. % %Gng'_‘T(Design)

4, % W(References)

Question Number : 37 Question Id : 2549897433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Drop cap function is available in which of the following tabs of MS-Word 2019?
Options :

1. ¥ Insert

2. % Menu

3. # Layout

4. # View

Question Number : 37 Question Id : 2549897433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

70 HY HaRM MS-Word 2019 & fgfeiad 7 § forw ¢a & Suds 32
Options :

1. ¥ _Qr:\‘:l—cf(lnsert)

2. % ﬁ_';[(l\/lenu)

3. % T3A3C (Layout)

4. % O (View)

Question Number : 38 Question Id : 2549897918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to customer purchases, POS stands for:
Options :

1. # Point Of Scale

2. % Point Of Sale

3. ® Position Of Scale

4. % Position Of Scaling

Question Number : 38 Question Id : 2549897918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
e WG & gl T, POS &1 0T &9 &1 82
Options :
1. ¥ Point Of Scale (tﬁ%_c' 317'55@%1)
2. ¢ Point Of Sale (U3¢ 31h Iq)
3. # Position Of Scale (TSR 3T THd)
4. & Position Of Scaling (thﬁﬁ'-‘fl:f 3 W)

Question Number : 39 Question Id : 2549898113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you have several evenly spaced numeric labels, especially years, then chart is the most suitable chart type in MS-Excel.
Options :

1. % radar

2. ¥ line

3. ¥ surface

4. # pie

Question Number : 39 Question Id : 2549898113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H A& 3MTU% U THH g3 (T) & s TATHS dad faedH g, fady wu 3 e, at 1< FaTId Iugad
UHR HT 91 gl 5|

Options :
1. # ISR
2. Al
3. % by
4. # 0

Question Number : 40 Question Id : 2549898131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true in case of Line chart in MS-Excel?

Options :

1. % This chart can show continuous data over time on an evenly scaled axis.

2. % This chart shows the size of items in one data series, proportional to the sum of the items.
3. # This chart is useful when you want to find optimum combinations between two sets of data.

4. % This chart can show fluctuations in stock prices.

Question Number : 40 Question Id : 2549898131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel H @18 AT1¢ & AT H HIH-91 BT T8t 82

Options :

1. ¢ T8 91 GAM ¥ ¥ Whd T 1Y 3¢l IR IHT & 1Y FReR et foxar aha 81

2. % I I U STl Yal & 31geH HT 3R AT &, S 3M1geH & AN & JHUR giar 8 |
3. % U I1¢ a9 IUANT SIaT § 5IF M0 S¢T & &l I & s IPTH o Wi I18d g |

4. % g I Wik B! Bl # SAR-TIGIT 7T ThaT g

Question Number : 41 Question Id : 25498910494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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We can enable or disable various options for capitalisation on the in MS-Word 2019.
Options :
1. % Auto Correct tab
2. % (Case change tab
3. ¥ Capitalization tab

4. # Customize tab

Question Number : 41 Question Id : 25498910494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BH MS-Word 2019 H IR HitcarzeeH & fore fafi fawedl &) Tfehd (enable) T 31fHT (disable) R Tobd B |
Options :

1. ¢ 3ffcI Hide ¢q

2. % HYIA ¢F

Question Number : 42 Question Id : 25498910563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Observe the given figure and find which of the following styles of margin setting is it as per the spacing in

MS-Word 2016.

H

Options :

1. ¥ Mirrored
2. % Normal
3. ¥ Narrow
4. # Moderate

Question Number : 42 Question Id : 25498910563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& T8 pfa BT 3G SR Ms-Word 2016 § @R & suR mifvl AT @t Fofafea § 9§ -
et B, 98 qarsdl

Options :
1. % iRS
2. % rdd
.Y
4. % TleC

Question Number : 43 Question Id : 25498910578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Deepthi wants to apply indent but she was unable to find the vertical ruler in MS-Word 2019. In such a case, she has to go to the File
tab, choose Options > Advanced, and under , select the Show vertical ruler in Print Layout view check box.

Options :
1. ¢ Display
2. % View
3. % Layout

4. % References

Question Number : 43 Question Id : 25498910578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 3T (indent) B AR BT T84T & AP I8 MS-Word 2019 H IR Fer Wom & 3qaef off, O 39 A H, I wigd
TR ST EﬁTIT, Options > Advanced T T W, F Sl , Show vertical ruler in Print Layout view AP FIGY BT IIT

ST BRI

Options :

1. ¢ ot (Display)

2. ¥ F (View)

3. % Q33T (Layout)

4. % IHIUY (References)

Question Number : 44 Question Id : 25498910715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does Ctrl + H in MS-Word 2019 perform?

Options :

1. % Open insert hyper link dialog box

2. % Open insert dialog box activating insert hyperlink tab

3. ¢ Open Find and Replace dialog box with the Replace tab activated
4. % QOpen format dialog box activating insert hyperlink tab

Question Number : 44 Question Id : 25498910715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, Ctrl + H T BTH DRl 82

Options :

1. * 3¢ BIRWRNIP ST Sl Waar g |

2. % 3¢ BIIURICIh ¢ & fhariid B 39 S SIay Werdl |

3. ¢ BIES 3R NT SHa sieq Wiadr § iR Ry ¢ & forareita srarg|
4. % 3¢ TRWIfeID o9 B! fpamfia Hdb Bife SN siay Wadi g

Question Number : 45 Question Id : 25498911476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A adds extra space to the side margin, top margin, or inside margins of a document that is planned to be bound.
Options :

1. ¢ gutter margin

2. # top margin

3. % left margin

4. % paper size

Question Number : 45 Question Id : 25498911476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
, T QI (STergiie) F g (ar) i, < (i) mRf, o ofeR & (g s) i # arfoad =i (<)
Ghtc;aT S R a9 $e A AT B
Options :
1. ¢ TR AR
2. % TIg IS
3. % §rff (Que) Aol
4. % U HMY

Question Number : 46 Question Id : 25498911874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Below are the steps to turn on the track changes. Arrange them in the correct order.

a) On the Review tab, in the Tracking group, click the Track Changes button. The Track changes button becomes highlighted.
b) Open the document that you want to revise.

¢) Make the changes that you want by inserting, deleting, moving, or formatting text or graphics. You can also add comments.
d) Optional. Add a track changes indicator to the status bar. Right-click the status bar, and click Track Changes. Click the Track
Changes indicator on the status bar to turn on or turn off track changes.

Options :

1.¥Db,a,d,c
2. % b,a,c,d
3. % b,d,a,c
4. % b,c,d, a

Question Number : 46 Question Id : 25498911874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g1 ¢ URGaH! (track changes) 1 AT B & H& TRUN D o1 HH & T T 7, 3= Tal v H FHafyd H |

a) RY T W, 71 Gg &, T AW g W faads H¥ | ¢ Il ge gIRarge gl S|

b) I STHIHT 1 Gt o ST TN (revise) BT 18 B

¢) TRE T MHa ST, 8T, RIMIART B 1 BIRUC B & [T aifesd URadd H2 | 37 Hiey i o Ihd g
)WWﬁmWﬁ%%W(trackchanges 1ndlcator)a§faTa|@EFaWWﬂ3? Wﬁ G?IT%%IGTWW
FY| 2P I P A T §E F F [T V¥ IR IR 25 o1 SfSPpex R s w1 |

Options :

1.¥Db,a,d c

2. % b,a,c,d

3. % b,d,a,c

4. % b,c,d, a

Question Number : 47 Question Id : 25498912483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to 'Header' in MS-Word 2019?

Options :

1. # An image or text that appears behind the main text of the document.

2. % It is a repeating text that appears at the bottom of every page of your printed document.

3. % Itis a large capital letter used as a decorative element at the beginning of a paragraph or section.

4. ¥ It is a repeating text that appears at the top of every page of your printed document.

Question Number : 47 Question Id : 25498912483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 20/40



27/02/2023, 16:18 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 ¥, Fafeifad & @ SH-41, R (Header) BT G d B 82
Options :
1. % TSP A 1 TRE ol 1ol (STagHe) & T Tae & Ui s St §1
2. % g U GIERTd ATell oae g off 3T RS gamadt (Siagie) & Udd U & =i fewrs Tar g
3. % Jg TP 981 Bided 31eR gl § T SWHTe RENE 1 YoM &1 YE3MTd H Follae! dd & U & fHa1 ST 8|
4. ¥ U8 U GIgX1d d1dl CRE g Sl 30 fiies axardel (Slagiic) & Ude gy & XY | feums aar g

Question Number : 48 Question Id : 25498919189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an option of Home tab in MS-Word?
Options :

1. % Font

2. % Paragraph

3. ¢ Table

4. % Styles

Question Number : 48 Question Id : 25498919189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFofafead @ DI-TT MS-Word & _E?IT[ L (Home Tab) o1 fame T8l %‘?
Options :

1. % I (Font)

2. % TIREG (Paragraph)

3. ¥ Tqd (Table)

4. % T (Styles)

Question Number : 49 Question Id : 25498925297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many MS-Word documents can a user open at the same time?
Options :

1. #¥ As many as the taskbar can accommodate

2. % As many as the computer operating system can handle

3. % Only one

4. % Not more than three

Question Number : 49 Question Id : 25498925297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BWTWTW@W'-&WMS-WOMW(documents)@?‘fW%?
Options :

1. % 3 g1, o 3ifiie eRepaR JHTRTT 3R I 3|

2. ¢ 3 B, oI HgeR SR e YHIe T« & |

3. % Had Th

4. % T 9 HfP 5T

Question Number : 50 Question Id : 25498925321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the default page orientation of MS-Word 2010?
Options :
1. % Portrait
2. % Landscape
3. # Broad
4. % Wide

Question Number : 50 Question Id : 25498925321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 &1 fEThTee Uet SHRUCTH &1 82
Options :

1. ¥ Uice

2. % TSWHY

3. % §ig

4. % 4I5S

Question Number : 51 Question Id : 25498925494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a text function of MS-Excel 2019?
Options :

1. # RIGHT

2. % LEFT

3. % MID

4.+ AND

Question Number : 51 Question Id : 25498925494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FAfIEd o ¥ DIF-91, MS-Excel 2019 BT ¢aRe HaRH g1 52
Options :

1. ¥ RIGHT

2. % LEFT

3. % MID

4. % AND

Question Number : 52 Question Id : 25498933749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is FTP used for?

Options :

1. # FTP is used for uploading files only.

2. % FTP is used for downloading files only.

3. % FTP is used for both uploading and downloading files.
4. % FTP is used for deleting files.

Question Number : 52 Question Id : 25498933749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FTP T IUTNT fopdap forw fovan Sirar g2

Options :
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1. % FTP &1 IUAN Had BI3d! B TS B & fort foram Srar g |

2. % FTP &1 IUUN] Had Bl B SIS B & fort fovam Srar g |

3. ¢ FTP &1 SUUNT BI5dl Bl 3Tl B 3R SIS B Gl & 1o18 fopdr Srar g
4. % FTP B ITAN GBIl & fSaile B & e fhar Sran g |

READING COMPREHENSION

Section Id : 2549896960
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897001
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921175 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

It was during the American War of Independence that one day George Washington was riding along a road, dressed not like a general
but like an ordinary gentleman. On the way, he saw some soldiers trying to lift a heavy beam on to a bank. There was a corporal, a petty
officer, with them who shouted loudly giving them orders every now and then. Washington stopped there to watch the soldiers. They
did not know he was Washington, the General. The beam was too heavy for the soldiers to lift. Although they strained very hard to lift
it, they could hardly move it. They needed just one man more to help them. But the corporal offered no help and kept calling, 'Push it!
Pull it! Lift it!"

Washington watched the poor soldiers for some time and then turning to the corporal said, "Why don't you help them to lift the beam?"
The corporal at once turned round and said, "Don't you know, Sir, I am a corporal." Washington replied, "I beg your pardon, Mr.
Corporal, I didn't know that you were such a great man." Then he at once got off his horse, took off his coat, pulled up the sleeves of his
shirt and pulled at the beam with all his might. With his help, the soldiers were at once able to lift the beam onto the bank. The Corporal
remained standing and did not care to help. Washington then put on his coat, got upon his horse again and said, "Mr. Corporal, if in
future you have some difficult work to do and don’t have enough men with you, you send for your general. He will not think it beneath
his dignity to help the poor soldiers in their work." It was now that the corporal realised that Washington, the great general was speaking
to him. General George Washington later on became the first President of the United States of America.

Sub questions

Question Number : 53 Question Id : 25498921176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At the time when the incident given in the passage took place, Washington was:
Options :

1. # the President of the USA

2. % an ordinary gentleman

3. # a petty soldier

4. % an army general

Question Number : 54 Question Id : 25498921177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following statements is FALSE?
Options :
1. # The soldiers were trying to lift a beam on to the bank.
2. # The soldiers were straining very hard to move a beam.
3. % The soldiers were asking the corporal to help them lift the beam.

4. # The soldiers were taking orders from the corporal.

Question Number : 55 Question Id : 25498921178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The passage clearly shows that Washington:
Options :

1. # loved to ride horses

2. % did not consider any job beneath him
3. # showed respect to the officer

4. % liked to do his own work

Question Number : 56 Question Id : 25498921179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Don’t you know, Sir, I am a corporal.” This statement shows that the corporal was a:
Options :

1. # great man

2. % genior officer

3. % high-headed man

4. % petty officer

Question Number : 57 Question Id : 25498921180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

That Washington was indeed a great general can be ascertained from the fact that:
Options :

1. # he was riding in plain clothes

2. % he stopped to watch the soldiers

3. # he asked the corporal to help the soldiers

4. ¥ he helped the soldiers to lift the beam

Question Id : 25498921175 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

fT U TR 1 U 3R ISP SMYR R U P IWR S

RIS} WA B ASTS P SR Ueb fo AMRITe TR Bi e el dfesh TR HUS UgThR TS WR Grs R 2gd 33 U
I, 3R <1 o $5 AP Th 96 TR YR 1T I3 BT SRR HR IB § | I 1Y Th BleT AASRY o1, S iR F fret
TR 38 gL I ST T AT | iRt Afa! ol 3 & fore 981 3 M| I8 et ud U1 fb 98 SR aiiRiTe | a8 iy agd
HRY U1 8 e I3T T8 U1 3R U1 gTetifh S2i1 39 I3 & o sgd S vary fa, fipr +ft 3 wmae € 23 fager g d | 3=
Wﬁ%%ﬁiﬁtﬁweﬁwﬁﬁﬁwmwmﬁaﬁmﬁﬁaﬁ?ﬁmw, = Yo W 39
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IE DI I SUR TG At 3R SO TR o TIHR S DI Wil 3AD! 39 Aee § A+ Xd ol 9 R o1 I & &
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Sub questions

Question Number : 53 Question Id : 25498921176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I GHY S TR H FdTs T8 g1 g, e nRiTe 2:
Options :

1. % TG I SHRBT & AFULd |

2. % U HIYURU Ui |

3. % T& Bic ¥ I |

4. U YA RA |

Question Number : 54 Question Id : 25498921177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 Byl A Q ST, Tad 82

Options :

1. % G® 9 IR TS §1H IS B I HR T

2. % I S B RIFTART R & o0 9gd B3 TR A
3. ¢ AFI 3! Tee A & oY SHYHR § I8 I8

4, % AP SATIHR F SR T @ U

Question Number : 55 Question Id : 25498921178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TR WY ¥ I T8 Id1d1 ¢ fob aifRire:
Options :

1. ® HIUS] B AR BHAT U4 AT

2. ¢ Bis Wl BT BleT Tg) gHed 3|

3. % 7 3SR & ufd ww femn|

4. % Y U BTH HA TS 11|

Question Number : 56 Question Id : 25498921179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"] 31T e} ST, Heied, b 7 Ue S g1, a8 sy aarar g & sfieriues
Options :

1. % HEH MeH!

2. % IRy BRI

3. ¢ Gl (PR

4. % Bl DR

Question Number : 57 Question Id : 25498921180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JIRITeH IRad H e T oRd 3, a1 58 a0 ¥ UaTl eIl off Javdl § (-
Options :

1. # 98 UIe HUS H IR &R 8T T
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2. % I8 YIPT Pl < & fow ¥ MU
3. % IBH ATIPRI A G P! B Hag P & T Pl
4. ¢ I AP B fH I3M H HeE B

QUANTITATIVE APTITUDE
Section Id : 2549896961
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897002
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 famen o1 =09 &3 o fou v gdieR § uy g (2) &) ufowifid & gaar gl
(27> x6 -9+ (7 +71=(7)>—431

Options :

v 11

, u (13)°

3 % 13

. (11F

Question Number : 58 Question Id : 25498914316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.

272 x6+9+ (7P +71=()*—-431
Options :

1.v11

) % (13)3

3 % 13
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4 = (11)?

Question Number : 59 Question Id : 25498928888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

v gt # NfaT & 52%, Gorer 7 64% 3R T & 74% 30 gred kvl wdem #1 Hftwan 3w 750
gl @ Tz g@nRT 9reg fFv v Mg i@ e 7

Options :

| v 475

, % 485
s % 450

4 = 490

Question Number : 59 Question Id : 25498928888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an exam, Ritiz scored 52% marks, Sunil scored 64% marks and Ravi scored 74% marks. The maximum marks for the exam are 750.
What are the average marks scored by the three boys together?

Options :
1. ¥ 475
2. % 485
3. % 450
4. % 490

Question Number : 60 Question Id : 25498928914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 famed &1 9F & o fou v gdieRu § uy g (7) & ufouifia @R 9@l §

V31.36 +0.64 x 252 = (?)? x 36
Options :

1. % 81

2. % 64

3. % -8

4. ¢ -7

Question Number : 60 Question Id : 25498928914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that can replace the question mark (?) in the given equation.
V31.36 + V0.64 x 252 = (?)2 X 36

Options :

1. # 81

2. % 64

3. % -8
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4. ¥ -7

Question Number : 61 Question Id : 25498928979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I TWRAT D1 Ugd B3 ol &1 T3 gl & 7Terd g |
155, 151, 139, 119, 90, 55

Options :

1. # 55

2. %119

3.9 90

4. % 139

Question Number : 61 Question Id : 25498928979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the number that is INCORRECT in the given series.

155, 151, 139, 119, 90, 55
Options :

1. % 55

2. % 119

3.%90

4. % 139

Question Number : 62 Question Id : 25498928984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7 R v wed Y 93 TwH v A iR A Fua 1, 11 3R 11 Be aw )
i 1 (¥) FUT 99 F 3R & & o amamas ¢ @)7

TR
e $T FAAE A FA g7
FUA

i T@mﬁaﬁmﬁy@mﬁﬁﬁmﬂy@r#% gl
II. TS A9 912 F 4 a5 527 &
1. IR ¥ &T5 AT H7 7Y 3THT A H 37 THY $H H1g H T-Iug g e

Options :

e L1 3T e
, x O HEFE
s« A FAAT H & TG AFFNET F T o 99T FT 3ea Fel [GIT N Heha|

4 v e | T

Question Number : 62 Question Id : 25498928984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A question is given, followed by three statements I, II and III. Identify which of the statements are sufficient and
necessary to answer the question.

Question:
What is the present age of Radhika?

Statements:

I. Radhika’s present age is % of her mother's present age.

II. Radhika is older than her brother by 4 years.

II1. After 4 years. Radhika’s age will be :—‘ of her mother's age at that time.
Options :

| = All statements L IT and IIL

;> % Any two of the three statements.

5 » The question cannot be answered even with the information given in all three statements.

4 v Only statements I and IIL

Question Number : 63 Question Id : 25498929483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
tan2® tan3°... tan 45°... tan 87" tan 88°
(5in239° + c05251°) + (sin?51° + cos239%)
Options :

1. % 0

FT A AT Ff=T]

ma | =

3.9

»
®
Bl

Question Number : 63 Question Id : 25498929483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
tan 2° tan 3°... tan 45°... tan 87° tan 88° ,
15 :
(sin239° + cos251°) + (sin251°+cos? 39°)

The value of

Options :
.# 0

2.3:gl
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1
3.# 2

1
4. % 4

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896962
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897003
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498910056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. # Litter

2. % Literature

3. * Literary

4. * Littoral

Question Number : 64 Question Id : 25498910056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

a&m&fﬁaﬂﬁ%ui%mﬁmaﬁaﬁwmaaﬁm%wm@qﬁm@mmm%aﬁgﬂ%wqwfmmw
o

Options :

1. # Litter

2. ¥ Literature

3. #% Literary

4. % Littoral

Question Number : 65 Question Id : 25498914072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A group of letters is given; the letters are indexed as (a), (b), (c), (d), (e), (f) and (g), respectively, from left to right. Arrange the letters
properly to form a meaningful seven-letter word and indicate the index of the last letter as your answer.

msnnyy o (a)(b)(c)(d) () () (2)
Options :
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1. ¥ (a)
2. % (b)
3. % (¢)
4. % (d)

Question Number : 65 Question Id : 25498914072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31&RY BT T THE {01 T B, 31eR HH: S ATY (a), (b), (©), (d), (e), () 3R (g) P T H T f5d T &1 1 31eRi o1 U
m%wa:nﬁ%ma@ﬁm@aﬁﬁvﬁw%wﬁaﬁna&%wﬁmﬁ|

msnnyyo(a)(b)(c)(d) (e) () (g
Options :

1. ¥ (a)

2. % (b)

3. % (¢)

4. % (d)

Question Number : 66 Question Id : 25498919662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given set of words.

Morning : Evening : Dusk

Options :

1. #* Triangle : Quadrilateral : Pentagon
2. # Happy : Go : Excited

3. % Summer : Winter : Autumn

4. # Botany : Zoology : Physiology

Question Number : 66 Question Id : 25498919662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o vy § 7o 18 v fRu 7 € S foreft =0 & Uep-gaR ¥ Faifda €1 -9 fiu 70 R faweal # @ ue #, fou U wreg @ a8t
TeY g1 I8! fahed 1 Udr oy |

a8 : AMH . I

Options :

1. # BYS : I9qds : days

2. “@&Wﬁaﬁﬁrﬁ

3.« M g 9df : uars

4. % gaeufa fagm - uroft oy : TR fopar fagm

Question Number : 67 Question Id : 25498919827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Asia

2. % Argentina

3. % Africa

4. % Australia
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Question Number : 67 Question Id : 25498919827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e TR e fy 7Y € 39 @ <t e febat s W Ueb-THIH 07 a1l § Tkl b1 U w1l R S <l 4 et &1 37 ot
(8ils d-) Rsq DT UdT L |

Options :

1. % TR

2. ¥ 3IEHT

3. % 3l

4. % 3fRefern

Question Number : 68 Question Id : 25498919828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. # Tea

2. # Cinchona

3. % Rubber

4.+ Chalk

Question Number : 68 Question Id : 25498919828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i R e fow MU S @ i ez fopet oieb Wb U ATl § Afb 1 U AT ed S o @ e 1 S i
(3118 g+) RNeq DT YT U |

Options :

1. % 91

2. * RFeA R o A e st )

3. # X8

4. ¥ Ol

Question Number : 69 Question Id : 25498927367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the number of triangles in the given figure.

A

Options :
1. %5
2. % 6
3. %8
4.4 10

Question Number : 69 Question Id : 25498927367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. %5

2. % 6

3.% 8

4.+ 10

GENERAL AWARENESS

Section Id : 2549896963
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897004
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549899839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIFATE! B BT 3R Y 1927 & g H §U BN S TS TRMAIRCH H I M gor UT?
Options :

1. ¢ JATeRATd g%

2. % HETE Tieh

3. % 3l 3R

4. % Trfd g

Question Number : 70 Question Id : 2549899839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who attended the Congress of Oppressed Nationalists at Brussels in 1927, on behalf of the National Congress?
Options :

1. % Jawaharlal Nehru

2. % Mahatma Gandhi

3. % Dr Ansari

4. % Motilal Nehru

Question Number : 71 Question Id : 25498912530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Hifgy

2. % N1 ()

3. % HeigH

4. ¢ A ®

Question Number : 71 Question Id : 25498912530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ground water in the Bengal basin is mostly contaminated by:
Options :

1. # chromium

2. % lead

3. ¥ cadmium

4. ¥ arsenic

Question Number : 72 Question Id : 25498912765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I Sigeic o A 9 § § ford I & I1 ST 52
Options :

1. % Hbaroll

2. ¢ fohabe

3. % T

4. % RIB

Question Number : 72 Question Id : 25498912765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which of the following games/sports is Geoff Boycott's name associated?
Options :

1. ®# Boxing

2. % Cricket

3. % Golf

4. % Swimming

Question Number : 73 Question Id : 25498932121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrofafed & 9 foa gl &1 fram 981 78t 82

(cfRT) (Sep)

(a) 3T YT - SBI

(b) FAt HBHY - ICICI
(c) & G - HDFC
(d) fawy Ufed - IDBI
Options :

1. # (a)

2. % (b)

3. % (¢)

4.4 (d)
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Question Number : 73 Question Id : 25498932121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of individuals and the banks they are associated with is NOT correctly matched?

(a) OP Bhatt - SBI

(b) KV Kamath - ICICI
(c) Aditya Puri - HDFC
(d) Vikram Pandit - IDBI
Options :

1. # (a)

2. % (b)

3. % (¢)

4.9 (d)

Question Number : 74 Question Id : 25498932504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRd H Ugdll SN fayfderea dgi R fobar mam
Options :

1. % HHARIS, Bhollalg

2. ¥ UdTR, STRIES

3. % PR, IR U

4, % 3, SAGEIG

Question Number : 74 Question Id : 25498932504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was the first agriculture university of India established?
Options :

1. # Kumarganj, Faizabad

2. % Pantnagar, Uttarakhand

3. # Kanpur, Uttar Pradesh

4. % Naini, Allahabad

Question Number : 75 Question Id : 25498932602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIS B ST ST, 2010 HRAY WG & 574 9 Tt UTae o TR SifAf-rafad fovar

1) TG 21 & A Shia- & ISR & U & T9 T W TR0 o SHABR

2) 3FE 275(1) b fTicl SFIY[RIA STTSIITral & SHedrur db fefy SFEf=Id & H U= &R Ieid S & T e o Urae |
3) 3TC 243(A) P SfTd IeaAd UTH HT Pt Wit 3R wrd

f3T T DTS BT IUANT B g fabed I |

Options :

1. ¥ &Had 1

2. % $HId2 3R 3

3. % had | 3R 3

4. % 1,23R3

Question Number : 75 Question Id : 25498932602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In consonance with which of the following provisions of the Constitution of India was the National Green Tribunal Act, 2010 enacted?

1) Right to healthy environment, constructed as a part of Right to life under Article 21

2) Provisions of grants for raising the level of administration in the scheduled areas for the welfare of scheduled tribes under Article

275(1)

3) Powers and functions of Gram Sabha as mentioned under Article 243(A)

Select the correct option by using the given codes.

Options :

1. % Only 1

2. % Only 2 and 3
3. % Only 1 and 3

4. % 1,2and 3
English Mock
Group Number : 2
Group Id : 2549894422
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549896964
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897005
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941117 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and
children have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes
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English Actual

Group Number : 3

Group Id : 2549894423
Group Maximum Duration : 15

Group Minimum Duration : 15

Show Attended Group? : No

Edit Attended Group? : No

Break time : 3
Mandatory Break time : Yes
Group Marks : 0

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test

Section Id : 2549896965
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897006
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498937910 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

The hydrosphere is the combined mass of water found on under and above the surface of a planet or minor planet or natural
satellite. Hydrosphere on Earth has been around for about four billion years and it continues to change in shape. This is caused
by seafloor spreading and continental drift which rearranges the land and ocean. The frozen part of hydrosphere is made of ice.
The frozen part of the hydrosphere has its own name the cryosphere. The water cycle refers to the transfer of water from one
state or reservoir to another. Fresh water sources contain rivers or lakes and rain whereas saline water sources contain oceans
and seas along with these two sources other reservoirs are groundwater and polar ice caps. Solar energy in the form of heat
light and gravity cause the transfer from one state to another over periods from hours to thousands of years. Most evaporation
comes from the oceans and is returned to Earth as snow or rain. Sublimation refers to evaporation from snow and ice.
Transpiration refers to the expiration of water through the minute pores or stomata of trees. Marq de Villiers has described the
hydrosphere as a closed system in which water exists. De Villiers claimed that on Earth the total amount of water has almost
certainly not changed since geological times so what we had then we still have now. Water can be polluted and abused or
misused but it is neither created nor destroyed it only migrates. There is no strong evidence that water vapour escapes into
space. Water is a basic necessity of life. Two third of the Earth is covered by water. The Earth is also called the blue planet and
the watery planet. The hydrosphere plays an important role in the existence of the atmosphere in its present form. Oceans are
important in this regard. When the Earth was formed it had only a very thin atmosphere rich in hydrogen and helium similar
to the present atmosphere of Mercury. Later the gases hydrogen and helium were expelled from the atmosphere. The gases and
water vapour released as the Earth cooled became its present atmosphere. Other gases and water vapour released by volcanoes
also entered the atmosphere. As the Earth cooled the water vapour in the atmosphere condensed and fell as rain. The
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atmosphere cooled further as atmospheric carbon dioxide dissolved into the rain water. In turn this further caused the water
vapour to condense and fall as rain. This rain water filled the depressions on the Earth surface and formed the oceans. The first
life forms began in the oceans. These organisms did not breathe oxygen. Later cyanobacteria evolved the process of conversion
of carbon dioxide into food and oxygen. As a result Earth atmosphere has distinctly different composition from that of other
planets and allowed for life to evolve on Earth. The activities of modern humans have drastic effects on the hydrosphere. For
instance water diversion human development and pollution all affect the hydrosphere and natural processes within. Humans
are withdrawing water from aquifers and diverting rivers at an unprecedented rate. The Ogallala Aquifer is used for
agriculture in the United States and if the aquifer goes dry more than twenty dollar billion worth of food and fibre will vanish
from the worlds markets.

Restricted/ Unrestricted : Unrestricted

Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes

Allow Back Space : Yes

Show Back Space Count : Yes

Hindi Mock
Group Number : 4
Group Id : 2549894424
Group Maximum Duration : 10
Group Minimum Duration : 10
Show Attended Group? : No
Edit Attended Group? : No
Break time : 5
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Hindi Mock
Section Id : 2549896966
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897007
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 78 Question Id : 25498944390 Question Type : TYPING TEST Display Question Number : Yes Calculator :

None
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Hindi Actual
Group Number : 5
Group Id : 2549894425
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Hindi Typing Test

Section Id : 2549896967
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897008
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 79 Question Id : 25498944458 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
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